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Q1)
a) Join OA

Since OA =0B & OC = 0A,
A OAB & A OAC are isosceles triangles
Given £ OBA =20° , Given £ OCA =30°
s LOAB = 20° < LOAC = 30°

LBAC = LOAB + LOAC
=20° + 30° =50°
£LBOC =2 x 50° =100°

Since OB =0C, A OBC is an isosceles triangle.

* ZOBC = ZOCB = M - % = 40°

Angles of A ABC are £ZA =50°, LB = 60°, £LC = 70°
Angles of A OBC are Z0BC = 40°, LOCB = 40°, LBOC = 100°

b)
AQOAC is an isosceles triangle.
Given £ OAC=40°
S LOCA =40°
LAOC= 180° - 80° = 100°
s LABC= = % = 50°
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https://www.youtube.com/watch?v=kgHP07aXOjc
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Join OB, A OBC is an isosceles triangle
So £ OCB = LOBC = 30°
s LOBA =50° - 30° = 20°
A OBA is an isosceles triangle , So £ OAB= 20°
Angles of A ABC are £ A =60°, LB = 50°, LC = 70°
Angles of A OBC are ZOBC = 30°, ZOCA = 30°, ZBOC = 180° - 60°
=120°

c) Given £ZBOC = 70°
A OBC is an isosceles triangle
LOBC=/0OCB= 180-70°

2
110°
= 55°
2

Angles of AOBC are ZOBC = 55°,
4B0OC = 70°, LOCB = 55°

Since ZAOC = 40°, ZABC = 4g° = 20°

Since ZBOC = 70°, ZBAC = 7g° = 35°
LZACB = 180° - (20° + 35°) = 180° - 55° = 125°
Angles of AABC are 125°, 20°, 35°

Calculate the angles of this triangle.

How many equilateral triangles can we make by joining numbers on the

clock’s face?
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Ans)
a) In a clock’s face
60 minute = 360°
. _360° _ o
1 minute = 60° = 6

5 minute = 30°

L BOC =4 %x30°= 120°
A= %:600

L AOC =5x30° = 150°
~Z B = % = 75°

L AOB =3 x 30° = 90°

nLC= 2 =45

b)
We can make 4 equilateral triangles by joining the numbers
on the clock

1,59, @610, 3,7,11), (4,8,12)
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Assignment
Q) In the figure O is the centre of the

circle and ABC is an equilateral

triangle.

Find ZBAC and ZABO. 5 .
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(5) Inthe picture, O is the centre of the
circle and 4, B, C, are points on it. |
Prove that ZOAC + ZABC =90°. \

A
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